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[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of
this page.
2. This paper consists of fifty multiple-choice type of questions.
3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(1) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
(ii) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.
4. Eachitem has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example:  CAD ® >

where (C) is the correct response.

5. Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I Booklet only. If you mark at
any place other than in the ovals in the Answer Sheet, it will
not be evaluated.

6. Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

8. If you write your name or put any mark on any part of the test
booklet, except for the space allotted for the relevant entries,
which may disclose your identity, you will render yourself
liable to disqualification.

9. You have to return the test question booklet and OMR Answer
sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There is no negative marks for incorrect answers.

10.
11.
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COMMERCE
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all the questions.

4. Match the following t lists of
1. India abolished the quantitative e © TOTOWINg WO RS 0

statements.
restrictions on imports of 1429 items List =1 List = II
in 2000 and 2001 as per the I. Rate at which RBI 1. Bank
commitment to which of the gives  loans  to rate
followine ? Commercial Banks
" by discounting bills
(A) South Asian Free Trade II. Rate at which RBI 2. RepO
Association (SAFTA) borrows ~~ from  rate
Commercial Banks
(B) General Agreement on Tariffs 3. Prime
and Trade (GATT) lending
rate
(C) World Trade Organisation Codes :
(WTO) I 1II
A 3 1
(D) Non-Aligned Movement B 2 1
<o 1 2
D) 3 2
2. Globalization is a term used to 5.  The MRTP Act, 1969 was abolished in
describe the process of removal of Eg)) éggé
restrlct.loni on which of the ©) 2006
following ? (D) None of the above
(A) Foreign Trade 6. Read the following statements :

(i) Financial statements are only

(B) Investment interim reports.

(C) (A) and (B) above (i1) Financial statements are
prepared on the basis of
(D)  None of the above realizable values.

(111) The preparation of financial
statements is not an ultimate aim.

3.  When a company takes over another (iv) Certain  assumptions  are
one and clearly becomes a new necessary to prepare financial
the action is called statements.
OWRer, the action 1 catie Which  of  the following
(A) Merger combinations consists of all true
. statements ?
(C) Strategic Alliance (B) (i), (iii) and (iv)
(©) (), (iii) and (iv)
(D) None of the above (D) (i), (ii) and (iv)
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99 - 11
e : =9 UTI | Y9 (50) Tg-Toehedid U9 € | Wedieh U9 o &1 (2) 31k & | gt weHl o 3R ST |

1. 9Rd 9 1429 I&Iei & MW W
FAfafed § 9 faeh uia aassdr &

SR UEATHS® Uideel & I

fopam 2

(A) TROT UREE Wdd @uR 9y
(|TT)

(B) T2 TS AR W AT THAAT
()

(C) fove AR WA (S 2 31)
(D) T TRUET TR (ATH)

2. Svdie Efaiad 9 9 g 11 utaemr
T & Y ATHAT 1 AT A H TR
IF (TF) T ?

(A) Fo=sit &R

(B) faftam

(C) FWH(A)TH (B)
(D) W & (Rl & &1

3. 9 U AT SO BT SR HAl €
e WA: Uk T2 @i drefl s Sl
¥, 39 1 I Fel ST 8

(A) foerm
(B) AR
(C) peAldsw q-ge=
(D) U H ¥ HIE TRl

4. Ffefaa 3 gfeat & wET & Heae

i
g -1 T - 11
[ KT RIAIRETT 1. 96 R
fafma faust =1 sgr
%mﬂ:sﬁwwaﬂ?ﬁ
|
I KT RO e 2. W
S anurteas SRt §
FOTAAE |
3. TR
e
T X
BT
[ 1
A 3 1
B) 2 1
o 1 2
D) 3 2

5. U9 IR S U SuEE, 1969 H gHNG
TR T ot
(A) 199179 |
(B) 20027 |
(C) 20067F |
(D) 3Ude H § IS & |
6. T=fcIiaa semt 1 STz it
(i) o foeror o ARy didasA
TAE |
(i) o foeRoT UM HeAl & SMER
R AR TF ST & |
(iii) Toria foerRoT GaR AT & 3w
A T BT E |
(iv) Toxi= foeror R A & o F2

O ST9Te el & |
Fefafad 9 9 q9 99 FE A5
HHAEY FRHATE
(A) (), (ii) W& (iii)

(B) (ib), (iii) T (iv)
(©) (i), (iil) T (iv)
D) (), (ii) T (iv)
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7. Which of the following is not a 11. The wvarious degrees of price
subsidiary book ? elasticity of demand can be shown
on a single demand curve as per
(A)  Purchase Book which one of the following ?
(B) Sales Book (A) Total outlay method
(C) Bills Receivables Book (B) Proportional method
(D) Assets Book (C) Arc method
(D) Geometrical method
8.  Which of the following are the ) o
application of funds ? 12. Which one of the following is not
. . correct about the price
()  Redemption of  Preference discrimination by a monopolist, who
share capital. intends to
(i) Payment of Dividend. (A) maximise the sales/profit
(iii) Increase in working capital. (B)  share the consumer’s surplus
(A) only (i) and (ii) (C) increase the welfare of masses
N (D) reduce the welfare of masses
(B) only (ii) and (iii)
(C) only (i) and (iii) 13. Returns to scale involve variations in
(D) (i), (ii) and (iii) the quantities of the various factors
of production
_ (1)  Simultaneously, and/or
9.  Accounting concepts are based on (2)  Proportionately
(A)  Certain assumptions (A) Both (1) and (2) are correct
(B) Certain facts and figures B) (1) is correct and (2) is
(C) Certain accounting records incorrect
N . (C©) (1) is incorrect and (2) is
(D) Government guidelines correct
(D) Both (1) and (2) are incorrect.
10. The main purpose of Cost Accounting
is to 14. The firm under perfect competition
(A) assist management in decision will be in short-run equilibrium
making. when
(B) maximise profits and minimise (A) RISLng I.ngrgmal cost is equal
losses. to the minimum average cost
. (B) Marginal revenue is equal to
(C) comply norms issued by the rising marginal cost.
Government of India from .
i ) (C) Average revenue is equal to
time to time. average cost
(D) prepare cost accounts in line (D) Marginal revenue is equal to
with the accounting standards. the fa]hng margina] cost.
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7. At § @ i e T Tal € ? 11. 9o 9 &t &g & fafa=r gfoEr w6
(A) o9 q&TH Frefeiiad o 9 foheh 3THR T & |
B) T T TSk I LIAT ST Tehelt & 2
(C) v fate foras qaeh (A) F1 =T i
: (B) ST TS
(D) et T (©) =gt
(D) Y@rIvT Tgia
8. Tre=fcifiad i ISt 1 STAT & 2
()  aTaeR st et o S 12. UF UHHRI 5N 9o fO9g & dag |
g —— frAfetad & 9 i a1 T8l T8l § ?
! . ! ' (A) & fosRa/ame  AYHAH
(iil) TN OeT ° g TEATE |
(A) wHae (i) T (i) (B) @& UM I SOd Bl siedl
(B) Fae (if) U (iii) TEAE |
) (C) d& SHIEM vl hedmol & !
(C) e (i) T (iii) e E
D) (), (i) T (iii) (D) & SHEHFE T HedoT HeF
TARATE |
9, TR EYURTNY R Biell &
. 13. UOH % 3R § fafa=T Scara o |reAr
(A) TAfTad uRepeaT3t W | S A T N Y
(B) Y= det 31 3iiehel W | (1) usag
(C) TAfv=a ciEieA éiT‘-lvHEiiﬂT | EzA)) (1)1313? (2)|aﬁ=ﬁm°r% |
(D) TRHRI feem-Feen ) | (B) (1)TE AR (2)TmE |
(C) (1) T E 3R (2) WEE |
10. ST SRaTeR 1 T SR & (D) (1)ARQ)IFMTATE |
(A) ToY H M o § e ’
S 14. U ®H YU UGN | SToushien ane
. . + B, St
(B) ST ST SR AT T Ee (A)  Ihea T AT FAAH 3T
T ATT HEAT | AT 3 SRTER Bl |
(C) 9RA WHR 5N THT GUF R (B) WM ST JgHM HHT AN
frifom feen-fel 1 s FTREE |
. (C) 3T Ed 3 3Gd T & SRIeR
. . . B € |
(D) T TGl R WA (D) HHFT AT SRAH W AN
FEY TR AT | % TR AT & |
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15. Match the following : 18. Co-variance between two variables
List - I List — II is

(i) Law of demand (1) Giffen (A) The average of the product of
is fully goods deviations taken from their
applicable averages.

(i) Law of demand (2) Veblon (B) A is further divided by the
is not goods product of their standard
all (C) A is further divided by the

(iii)Law of demand (3) Normal product of their arithmetic
is partly goods averages.
applicable (D) None of the above

Codes :

G) (i) (i) 19. Statement-— A : Standard error of

A 1 2 3 the mean is the

standard deviation
® 2 3 1 of the sampling
< 3 1 2 distribution of

D 2 1 3 mean.

_ Statement — B : Simple random
16. Statement-1I : The heading for sampling is non-
columns and rows probability
are called caption sampling method.
and ) stub Which of the following combination
respectively. is correct ?
Statement — II: Sturge’s Rule is
used to decide the (A) Both A and B are true.
nature of (B) Both A and B are false
manifold (C) Aistrue and B is false.
classification (D) A s false and B is true.

Which of the following is correct ?

(A) BothIand II are false. 20. Which of the following has RDBMS ?

(B) BothIand II are true. (i)  Access

© I@s true and II i§ false. (i) Excel

(D) Iis false and II is true. (A) (i) and (ii)

17. F-test is used to test the significance (B) only (1)

of the differences between (C) only (ii)

(A) Co-efficient of correlation (D) None of the above
between two sample groups.

(B) Co-efficient of  correlation 21. In which type of organization is
among more than two sample ‘grapewine’ communication used ?
groups. .

(C) Averages between two sample (g) ;nformlal orgap 1z?t10n
groups. (B) Forma organlzatloq .

(D) Averages of more than two (C) Departmental organization
Sample groups. (D) Matrix Organization
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15. Tt 1 e S 18. <1 Il o ST o1 WB-Ta=R0T BiaT &
T -1 T - 11 (A) =& & 3Mgar ¥ e oo &
G) "9 wm fEw (1) TR e TOTIeRT ST ST |
QU A E B) A ¥ T ¥ 37 =@l ymm
g | ferarett o T[UTieRl | 9T 3 § W
(i) 7w W (2) S aw T |
el (C) A F g H Ik R0
B E | et % o @ 9 3 @ e
(iii) T T T2 ofer: (3) A= T |
TR E | e (D) ST & & S T |
%22
Q) (i) (iii) 19. $=T(A): TH 3Hd & =AY TR0
A 1 2 3 O Toae @l SEd & HHE
B 2 3 1 I FR A |
© 3 1 2 HT(B) : 9= <o MRYE TR-
® 2 1 3 TR e TR SR & |
frfaiad 3 9 % 91 3o Tel € 2
16, TRl ww wd i % dw (A) (A) iR B) T T €l
T YA TS T Fed & | (B) (A) 3R (B) 3Hi A E |
w1l g wiwor @ i (C) (A)¥& 3R (B) SR € |
T % ot w2t & Frem B (D) (A) o & 3R (B) ¥ & |
fepa ST & |
e g e T E 9 20. T=fafEd o & fred TR €t & U9 TH
(A) 1T I e e
(B) Iwd IS ®IE | (1) b
(©) T mems | () wREw
D) ITemtmdIadt | (A) (i)ﬁ?(ii?ﬁl
(B) Hae (i) ¥ |
17. F-wdemr &0 W& SR @ Hedm W (C) et (i) H |
TRIETOT S o Terd fopa T & (D) SUdeR B ¥ fondlt § T |
(A) T IRY TR F S Fe-gary
o T[UTIh o ol | 21. ¥ TR & e | SFRIeT SouoT i
(B) T 9§ ST Sy el & We-Gay ST B € ?
o 0TI o o | (A) STHIETRE Y
(C) Tt =TSs Gl o i o ford | (B)  3fior=niies 9e
(D) =W AT =AW Tl o Al 6 (C) Tt e
fert | (D) e e

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




22,

In management science “Grid” refers to
(A) Diverse managerial styles

(B) Co-ordination

(C) Communication

(D) Motivation

27.

Trade Mark is :

(A) a name, term, symbol or
design which is intended to
identify the goods and services

of a seller.

(B) a brand that has been given

23. “SWOT” is used for legal protection.
(A) Planning (B) Organising (C) giving protection to the
(©) Motivating (D) Controlling product and adding to it’s
aesthetics and sales appeal.
24. Which of the following pairs is not (D) providing written information

matched ?

about the product.
List-1 List - 11
(A) Frederick —  Scientific
Herzburg Management 28. Which of the following is not a part
(B) Henry Fayol - Modern of strategic planning ?
Management .
(A) Purposes and mission
(C) Max Weber - Bureaucracy
(D) Philip Kotlar —  Marketing (B)  Objectives
(C) Choice of businesses
25. Which one of the following is not (D) Social responsibility
covered under corporate governance ?
(A) Corporate social responsibility
29. Attitude means

26.

(B) Business ethics
(C) Role of independent directors

(D) Government monitoring

Market gridding means

(A) establishing and running a web
marketing facility

(B) amethod of survey of expert’s
opinion.

(C) managing brands and
developing brand equity

(D) an analytical technique which
facilitates dividing a market
into segments.

(A) Impulses, desires and
considerations of the buyer,
which induces him to purchase

a product

(B) A sum total of the individuals’
faith and feelings towards a
product.

(C) The customer turning to his
environment/world of
information around him.

(D) Creating some relentness in the
mind of an individual.
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22,

23.

24.

25.

26.

Yo fom | “fire” Ed e &
(A) Tafay ver ot |

(B) EHET |

(C) Huwo |

(D) ARyIRoT |

“Tdfe’” ST T Toha ST ©
(A) FEsETH |

(B) HMATH |

(C) ARTROTH |

(D) FE=oTH |

%ﬁm‘lﬁﬁaﬁ H ¥ i 91 7 gAfed @
0

T -1
(A) WERe® gsam -
(B) &= AT -
(C) T IR -
(D) fHfeTa dleerR -

T - 11
ERICER )
MY T
RIETHI]
faque

frAfeatad § & S 91 HURE Ta9 §
TieATer T8t & ?

(A) TTH= G STREE |

(B) =ATEHEE N |

(C) e FeTent st fHe |

(D) TSR gREte |

IR Ui =1 s &

(A) STHTHST Fiaem H AT T
e |

(B) foiwsti o ot o qdeTor =l U
fary |

(C) = T Ya=Y a7 S+ Iraerdt ol
o |

(D) IR @i fafa= foramtt 4 fasnfsra
T T Tk [a9ATUTcHe dehieh |

27.

28.

29.

MR e &

(A) UF M, V5, Tohel TS T
STeeh gRT Uk foshar At
3R HaT3T ht Ted &l ¢ |

(B) UH s @ fafues @Remor e
g

(C) U 3CUTE i TRETIT UG AT 3R
39 Higg e fashg ot § gig
FT |

(D) SR % Y H feiiad gomT IS
FT |

frefefad § 9 % 91 el FasH
AR S ?

(A) YIS U e |

(B) ST¥A |
(C) e T &’ |

(D) QI STRETEE |

SRS T S &

(A) TH shal &l HHET, SO ol
Yfawel S 39 Ush IS & 7T &
R aa s & |

(B) U Al 1 U IS o Ui 3T
Toreame wa TSt o1 et AT |

(C) e & 319 ATAERYT / IRT Th
% I WER Al 3R & |

(D) U% A & uRkass H FD

ShIHAT ST~ hT |
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30.

31.

Match the following :
List-1 List - IT
(a) Supply chain (i) putting the
management product in the
mind of the
prospective
buyer
(b) Product (i1) the process of
positioning gathering,
filtering  and
analysing
information
relating to the
marketing
environment.

(c) Marketing (i11) improving the

environment performance of
analysis dealers
through
sharpening of
their sales
skills and
product
knowledge
(d) Dealer (iv) larger in scope
training than both
physical and
marketing
logistics
Codes :

(@ (b) (¢ (@
A) @) ) @) @Gv)
B) @Gv) @) @) (ii)
(©) @G @Gv) @(i) (1)
D) i) Gv) @) (D)

Over capitalization may not be as a
result of which one of the following ?

(A) Promotion of a company with
inflated assets

(B) Application of low
capitalization rate

(C) Shortage of capital

(D) Liberal dividend policy

32,

33.

34.

Which one of the following is not
matched ?

List -1 List - II
(a) Interest is a (1) Cost  of
deductible debt
expense capital

(b) Realised- (i1) Cost  of

yield equity
approach capital

(c¢) Extended (i11) Retained
yield earnings
approach

(d) Dividend (iv) Cost  of
capitalization preference
approach share

capital
Codes :

(A) (a)and (1)

(B) (b) and (ii)
(C) (c)and (iii)
(D) (d)and (iv)

The rate of discount at which NPV
of a project becomes zero is also
known as

(A) Average Rate of Return
(B) Internal Rate of Return
(C) Alternate Rate of Return
(D) None of the above

The dividend irrelevance theorem to
share valuation was propounded by

(A) James E. Walter
(B) Myron Gordon
(C) Modigliani and Miller

None of the above
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30. Frefefaa = e s 3. Frefefad § ¥ FRT UE & e @
T -1 -1 7
(a) G @ (1) T RATE el -1 & - 11
CER) Aiash | IS ) .
(a) S TH T (1) FOT G w
Tl R T | . e
b) SO (ii) Toaor sdmeRoT .
v W 3 dafg (b) FYfa-3T (i) Fwar A
a5 ST ! AT
AT, (c) foia-ama (i) wfaqenia
IR Tl ST B
fergersoT S
TishaT | (d) W (iv) Tﬁﬁw
(ORELE] (iii) ST o fasha ESleau 391 il =t
STATEROT SIS qT SHTHA GG
TorgeeoT 3R T H 52 ;
TRERAT TR o
Ih H (A) (2) W (i)
o H i (B) (b) W (i)
T ©) (c) T (i)
@ m @) ;ﬁfww D) ()W (iv)
TeITE SHeIeT ST
SEREIRED 33, o' 991 R, N9 W uF uRES H IS
F: HE e (T ) S ST g
@ ® © @ ST =Tt &
a C
@A) () G) Gib) () ) WW@;‘
B) (v) () (@) (i) (B)  SAT=INeh U ol 5T
©) @i Gv) Gi) @) ©) Wwﬁa
(D) (i) (iv) (@) (i) (D) 3ugE H 9 IS TEl
31, Afy-OSiemor f=fafed § & @9 4 34. 3797 HeAih & oI e e
ot Ueh o SHRUT T2 &l eheT 2 ? yiqurie feram T o
(A) THIT GEfEl | ST o Tea | (A) G E. 9l
(B) =g USTROT ST it HfeT | (B) HIEH TREM
(C) Ot ot =g | (C) wifefrerar v feer
(D) SR AT A | (D) 3Ude | ¥ FiE Tél
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35. Assertion (A) : Management of 39. Assertions :
working capital refers to the (i) High morale leads to high
management of current assets productivity.
and current liabilities. (i) High morale need not
Reason (R) : But the major thrust necessarily lead to high
of course, is on the productivity.
management of current assets ; (A) Both (i) and (ii) are correct.
because current liabilities arise (B) Both (i) and (ii) are incorrect.
in the context of current assets. (C) (@) 1is correct and (ii) is
Codes : incorrect.
(A) Both (A) and (R) are incorrect. (D) (@) is incorrect and (ii) is
B) (A) is correct and (R) is correct.
incorrect. 40. Statements :
(€) Both _(A), and (R) are correct.. (i) Fringe benefits, now-a-days,
(D) (A) is incorrect, but (R) is are a significant component of
correct. “compensation”.

36. Business pl‘ans. designed‘ to‘achie\{e () gr?lsleéy ces Pl;:ee rzgzi d a}:lané

the organizational objectives is stipulated rate per hour of
called ) work done by them
(A)  Human Resource Plannlng (A) Both (i) and (ii) are correct.
(B) Human‘ Resource Forecasting (B) Both (i) and (ii) are incorrect.
(C) Strategic Plan (C) (@) is incorrect and (ii) is
(D) Corporate Development Plan correct.

37. “360” degree method relates to ) gl) is comect and (i) is

y 1ncorrect.
(A) Performance appraisal
(B) Organization climate 41. Which one of the following is not an
(C) Employees morale instrument of credit control in the
(D) Retrenchment banking system ?
(A) Open market operations
38. Match the following : (B) Moral suasion
List - I List - II (C) Cash Reserve Ratio
(a) Adam (i) Subsistence (D) Tax rates
Smith Theory
(b) Karl (ii) Wages Fund 42. Match the following with their year
Marx Theory of establishment :
(c) John (iii) The  Surplus (a) IDBI i 1982
Davidson Value Theory (b) IFCI (i) 1964
(d) David (iv) Bargaining (c) NABARD (i) 1948
Ricardo Theory (d) ICICI (iv) 1955
Codes : Codes :
(@ () (© (@ (@ () (© (@
(A) () (i) Gv) @) (A) () (@) @Av) @)
B) @) @) aGi) (v) B) @(v) (i) @) (i)
© Gv) ) @) (ii) (C) (i) (i) () (@v)
(D) () Gv) () () (D) () (i) Gv) (i)

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




3s.

36.

37.

38.

Latest Sarkari Jobs, Govt Exam Results
Vacancies and updates on one click

FHIT(A) : ] St T T A &, 39. wUA:
=] WA TE o] S (i) 39 THES § 3T IR A
Ty | g
FROT(R) : l"ch«l,afr:ws, «:?;;; (i) 39 THie ¥ ffFaE T ¥ 3o
=] qHIT 6 TSR W E, SISl UT =Tl el & |
=] w6 WS H & A (A) ()T (i) ST T E |
A IS E | B) ()T (ii) 2 TR ¥ |
T . o (C) (i) W& &R (ii) TATE |
E]/;s)) Eg g(gj?;?:::gl (D) (i) T & R (i) T E |
©) (A)TE(R)IHATIE | 40. 97
HISATHE Sl ol e & A Wit .. E:mg a;%l C_ o
ATk AT ol Fed & (i) N ;;qlwlﬁ;aa%lg;w%%m
(A) TFE GETE A uﬁr’aﬂaiﬂr&aﬁﬂﬁ ferr
(B) WMa HaETYH Li?ﬁj‘-llv-l ATE
(g) Fee E“WW (A) ()T (i) T T E
(D) T TP (B) (i) Wd (ii) 3 TAT € |
360 Fegit if gt & (C) (i) ToTa & 3R (i) Wl € |
(A)  HE-TTTE JodishT (D) (i) TEE 3R (i) T E |
o
) 41, e e T
(A) Tt IR i foramd
fretefad = foer shifsu Eg; ﬁﬁzﬁaﬁqﬁ@“
lﬁﬁ— I lﬁﬁ— II NEZS) H‘C!q HJuId
(a) Terf@my (i) Saa-fame (D) FH
) et et Wﬁ'aim 42. TG 36 SO oY ¥ e
(b) (i) 7= T
. A (a) TS (i) 1982
(c) S (iii) STTTereRT oot (b) sEURT M (i) 1964
_&}%‘_s_éiég“ . = ORELES (iii) 1948
(d)ﬁ ﬁ (i) ;““”i ) TERaaE@AE (v) 1955
) F:
o © @ @ b © @
A) G (i) (V) @) (A) i) () ()
B) () (i) (i) (iv) B) (v) () (@) (i)
(C©) (v) () (i) (ii) (©) () @) @ @Gv)
(D) (i) (iv) (1) (1) (D) () Gi) Gv) (i)



43. Which of the following is not a 48. The following table shows cost per
function of a Rural Bank ? unit of production of two goods,
(A) To accept deposits wheat and cloth in two countries X
(B) To waive loans and Y with no transportation cost
and free trade :
(C) To grant advances X Y
(D) To supply inputs to farmers Rs. Rs.
Wheat 50 350
44. From which date have all Banks Cloth 100 500
started sharing their ATM free of Which one of the following will take
cost for transactions ? Ef)cel?\l de will take ol
o trade will take place.
(A) Janl%ary 1, 2009 (B) X will export pwheat and
(B) April 1, 2009 import cloth.
(C) July I, 2009 (C) X will export cloth and import
(D) September 1, 2009 wheat.
(D) There is no enough
45. Which of the following is not the HRmation to comument.
lf;:rllisb?ased business of commercial 49. A debit balance of payments occurs
) due to
(A) D.P.Operations (i) Low imports and high exports
(B) Loans (ii) High imports and low exports.
(C) Deposits (A) Both (i) and (ii) are correct.
(D) Discounting of Bills (B) Both (i) and (ii) are incorrect.
(C) Only (i) is correct.
) ) (D) Only (i1) is correct.
46. Foreign Exchange and foreign
currencies in India are governed by 50. Match the following economic
(A) SCRA Act institutions with the year of their
(B) Banking Regulation Act establishment :
(C) FEMA Act (a) World Bank (1) 1946
(D) SEBI Act (b) Ir}tematlonal (i1) 1956
Finance
Corporation
47. The balance of payments of a (c) International (iii) 1960
country on Current Account is equal Development
to Agency
(A) Balance of trade plus short (d) Asian Development (iv) 1966
term capital flows. Bank
(B) Balance of trade plus net Codes :
invisible exports. (@ () (© (@
(C) Balance of payments minus @A) ) ) 3> Gv)
capital flows. B) @) @) (dv) (i)
(D) Balance of invisible trade plus © @G @@ @Gv) (i)
imports. D) Gi) @ @) av)

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




43.

44.

45.

46.

47.

ffafaa o 9 A |1 W0 Sk 1 HE

T E?

(A) STHT WIHR T |

(B) &OT T AT T |

(C) 3TUmET ol U AT |

(D) NI T ST o WTEAT Sl ST
FT

forg fafar & |eft SRt 3 3T o939 &q
AU T wH A 3ok Wewiiar i
YR fohar 2

(A) SR 1, 2009

(B) WA 1, 2009

(C) ST 1, 2009

(D) fga=r 1, 2009

frAfetad 5 & i A1 anforfsoe Seht 1
I SRS T e € 2

(A) SLt. TsFar &R

(B) =T

(C) mr

(D) fafw= fau=t =t 5T 63

aRd H faeen fatwa ue faeen gem
I Bl &

(A) UEH AR T AITIH

(B) eAferpioor fqaae it

(C) T ATy

(D) eIt atafraH

TH I F A6 T W PIAA H I

TR B ©

(A) SUR FT AT & (+) FTHA
STt v & |

(B) =UR 1 AT €T (+) YF AG¥A
| |

(C) =ATYR T 99 07 (—) YsT TelTe & |

(D) 37S¥T AR HT AT &7 (+) AT
F |

48.

49.

50.

frfeiiea aifererr g1 39 X SR Y § &

TEI3H, TE U HUST & Ufq TS ST
I T IO &, STEr hig URaed =
21 € el e AR E
X Y

EEH) (R
i 50 350
HUST 100 500
fr=fefEad 9 | o e "fed g 2
(A) T AR T &M

(B) X T o f7aTd U U 1 3T
HAT |

(C) X FUS I faTd ue T 1 AT
FHAT |

(D) AW & TAT T T & |

AT ST TS &1 T HROT §

(i) 7= 3 e 3=u faa

(i) =9 o ud f faa
(A) (i) W (i) I T E |
B) (i) e (ii) I T T E |
(C) == () e |

(D) = (i) W2 |

FefafEa enfas  dwemet w3 e

T a9 9§ e it

(a) fove s () 1946

(b) srREF e FT (i) 1956

(c) =™ faem  (iii) 1960
SATTRIT

(d) |ferE foehrg (iv) 1966

P

(@ () (© @
@A) ) ) 3> Gv)
B) () @) Gv) (i)
© @G @@ @Gv) (i)
D) G @ @ @v)
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